20254 K FIBAFFRI=THvH—I—J <KHEREER>
SH7EAI10ERE
401 D &f
40 DEB FHI=T740 | BhRTHHDE40 [ N\FET40 AFELE40 | +FIEYvh-2'40 [MISAWA SENIORSC| | B | B8R | &8 |B%2| IEL
1 |E#HI=740 2—2 1 2 2 0
2 |BhETdHHDE40 2—0 7—0 1—0 9] 10 of 10
3 |I\FtEJ340 0—2 0o—1 1—2 0 1 5| -4
4 |EFILE40 2—2 0—7 0—2 1—2 1 3( 13| -10
5 |+MBEFXvH—X40 1—0 2—0 2—2 7 5 2 3
6 |MISAWA SENIOR SC 0o—1 2—1 2—1 2—2 1 6 5 1
507 D &f
50 DB BHL=750 | shaidHHDE50 | \FHEIF50 AFIES0 | +fEYyh-2'50 | EF R0 R | R | &R | B%E| B
1 |E&H=750 1—1 0—2 0o—1 1 1 4 -3
2 |BhRTHMDES0 0—0 0—3 1—0 4 1 3 -2
3 |/\F£73550 1—1 0—0 0—o0 7—0 6 8 1 7
4 |EFLiES50 2—0 0—1 5—0 6 1 1 6
5 |+#EFyH—X50 1—0 3:0 0—0 1—0 4—0 13 9 0 9
6 [EFY 450 0—1 o—7 0—5 0—4 0 of 17| -17
60mMDER F1EA
60m DL EBELZ760 NFET3560 |+iEFyh—Xe0| HFLE6O xF BR | 88 | &8 |#%ZF| &
1 [2EL=760 1—1 2—2 1—1 2—-0 6 6 4 2 3
2 |\F£73560 1—1 0—2 2—1 2—0 7 5 4 1 2
3 |+HEFyH—X60 2—2 2—0 3—0 1—0 10 8 2 6 1
4 |HFILiE60 1—1 1—2 0—3 3—2 4 5 8 -3 4
5 |kF 0—2 0—2 0—1 2—3 0 2 8 -6 5
%#2[E
60D E B =760 NFET3560 |+iEFvyh—X60| HFILE6O BR | 88 | &8 |8%E| &L
1 [FE=760 0—1 0—2 0 0 3 -3
2 |\F£J360 1—0 3—0 6 4 0 4
3 |+HBEFvH—X60 2—0 2—1 6 4 1 3
4 |HFITiE60 0—3 1—2 0 1 5 -4
60MMDER A&t
B (ZXFELEDORFRAS LR
608 DA EBE=760 INFEJ560 |+fMBAFyh—X60| HFTiE6O R | #R | &R |BXE| IR
1 [EE=760 0
2 |\F£J560 0
3 [+HEFvH—X60 0
4 |RFILiE60 0

202548 R &




